/INIOFIOF (IFF)  JUILOHPHDE D 5 (12)

H H a5 VALYt
(1) 2-0.4 = (9) 1.2-0.2 =
(2)2.8+7 = (10) 35:05 =
(3)0.8+0.8 = (11) 3.6+4 =
(4) 1555 = (12) 8+0.8 —
(5)1.2+6 = (13) 1.8+0.6 =
(6) 7209 = (14) 1.4+7 =
(7)2.1+0.3 = (15) 0.4-0.1 =

(8) 0.9+1 =

https://chugakujyuken-sansuu.com



/INEDOFE DT (BFE)  JUILOHPADH] D 5(12)

(1)2-04 =5

(2)2.8:7 =04

(3)0.8:0.8 =1

(4)15+5 =0.3

(5)1.2+6 =02

(6) 72+0.9 = 80

(7)2.1403 =7

(8)0.9+1 = 0.9

(9) 1.2:02 =6

(10) 3505 = 70

(11)3.6+4 =009

(12)8+0.8 = 10

(13) 1.8:0.6 = 3

(14)1.4-7 =02

(15) 0.4-0.1 =4
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